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Q.38) In the context of Modern Indian history,

consider the following events:

1. Lahore resolution for the separate state of
Muslims

2. Individual Satyagraha

3. August offer

4. Beginning of second World War

Which of the following is the correct

chronological sequence of the above events?

a)1-2-3-4

b) 4-1-3-2

Q) 4-2-1-3

d) 4-1-2-3

Q.39) With reference to winter diesel, consider

the following statements:

1. It does not meet the BS-VI grade specification
of the Bureau of Indian Standards (BIS).

2. It has higher Sulphur Content which led to
higher chemical deposits in engines and poor
performance.

3. Itwill replace the normal grade of Diesel used
by armed forces in high altitude areas as it can
maintain its fluidity function in extreme
winter weather.

Which of the statements given above is / are

correct?

a)land 3 only

b) 2 and 3 only

c) 3 only

d)land 2 only

Q.40) With reference to the “Nai Talim”
education system which was conceived by
Mahatma Gandhi, which one of the following

statements is fncorrect?

a) It was popularly described as education
through handicrafts.

b) Principles of Hinduism were integral to this
education system.

c¢) Itemphasized on holistic training of mind and
body along with academics.

d) Education under this was imparted through

the medium of the provincial language.

Q.41) Consider the following statements with

reference to the Wardha resolution passed by the

Indian National Congress (INC) in 1939:

1. It offered unconditional support to the British
government in its war efforts.

2. It decided to launch a mass movement if the
demand of total independence is not met.

Which of the statements given above is/are

correct?

a) lonly

b) 2 only

c) Bothland 2

d) Neither 1 nor 2

Q.42) With reference to ‘Vanadium’, consider

the following statements:

1. Itisused in steel industry due to its corrosion-
resistant properties.

2. It can increase the efficiency of fuel used in
automotive and aviation industries.

3. India does not have any reserves of Vanadium.

Which of the statements given above is/are

correct?

a)land 2 only

b) 2 and 3 only

c)land 3 only

d)1,2and3
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